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B¥lan| mA 1 £ ILAAAE | A | 2551

5/31 56 A Y BUSTR B E 521 AL 280,000 280,000
1 | 5/31| #m# [0 OSCEEAM(S8, 145 X 50%) 4,072 275,928
2 | 6/2 | #=m# [PC/N—Y1(12,240H X 50%) 6,120 269,808
3 | 6/5 | wmn ;fi%%%?ﬂgéppgf;%_&W&:&* 2,075 267,733
4 | 6/5 | wmm |EER 1,240 266,493
5| 6/7 | #B#% |[HDMIAZ—7 L ) Ot (4,811 X 50%) 2,405 264,088
6 | 6/7 |mmms | ARANT—RCEBERERENIZNEH) 1,728 262,360
7| 6/7 s (HFNE SRR R NI &I E M) 45,012 217,348
8 | 6/10 | ##z |F—A—F1X(6,9801 X 50%) 3,490 213,858
9 | 6/17| ®wEH |[F 27~ MR(3,7801 X 50%) 1,890| 211,968
10 | 6/27 | #me |HBALL 5,070 206,898
11| 7/8 | #wmn Ziﬁ;?q?}?o%%:yﬂhMmﬁ 22,372 184,526
12 | 7/10 | #8#  |iPad—2A(77,328 1 X 50%) 38,664 145,862
13| 7/12 | w5 [G)FA L OH LR 4,609| 141,253

7/16 7-8-9 A S BUSIS B E T AHL 420,000 561,253
14| 8/8 | wm# | LN 756| 560,497
15 | 8/8 |msmisctt |k E (7/30~8/ 1) BT H S X 63,590| 496,907
16 | 9/10 | #m# (AR —2B (BFICHETH ~9A 45)) 19,116 477,791
17 | 9/14 | s | ZEEA 6,400 471,391
18 | 9/17 | #mz | = AL A% 2,521| 468,870
19 [ 10/10 |z ems Az | ZEEA; 12,617| 456,253
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B¥lan| mA 1 £ ILAAAE | A | 2551
20 [10/10| #msz | BHCHTOREAR(73,800 1 X 50%) 36,900 419,353
21 [10/10] #mmze | FHITEY EFE (GFocES A ~10H 459) 125,700 293,653
22 [10/15|mairges ik E (9/21~22) KBRIF R PR i e ) X 36,710 256,943
10/16 10-11-12 A 3 BUSIE BV B 52 1T AL 420,000 676,943
23 [10/28|mwrses | ik 2 (10/19~20) BT (TR H X« SCRUX) 67,900 609,043
24 110/28 | &kt Ate | EEEAL 700 608,343
25 |10/30| #mz (91T 168| 608,175
26 | 11/6 | =mm | HHEH L 825 607,350
27 | 12/9 |mzswrsese | B (11/9~ 10) BUTHI AR X, 7)1 B vl 55,520| 551,830
Jik#(11/19~20)
28 | 12/9 |msirses | HOCHD TR H X, IR GK T - ARE) 1177 - 89,968 461,862
SIET)
29 | 12/9 | ##% |iPhonetFH{%(40,000F] X 50%) 20,000 441,862
30 | 12/9 |mamnss | 5544 7~ L2 — AR 7,962| 433,900
31 |12/25| #mm | 1,441 432,459
32| 1/5 | wmn ’(X;Fq‘/ﬁ%%%%%wt%x4’%%”Hﬁ 159 432,300
33 | 1/10 s |YIOD P ASHELL S AP AR 5,000{ 427,300
1/16 1-2-3H P BUSTEB &= A 420,000 847,300
34| 2/6 | wmm {fﬁ;ﬁ%{%ﬁ(”””m 512| 846,788
IR
35| 2/6 | #E# |(PCHAEY, HyfuBidEfE (CPU) , CPUY— 44,623 802,165
T—. =R —R)(89,247 [ X 50%)
36 | 2/6 | wEn |V A=Y (ERL=y (3,939 X 50%) 1,969| 800,196
37| 2/6 | #BE [zl —Y(NESSD)FR(7,800 X 50%) 3,900 796,296
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BEl | ma 1 5 IR | S e | 315
38 | 2/6 |wommmas | EEEA 1,210| 795,086
39| 2/6 | wmr | FHEPTAAR(50,160 1 X 50%) 25,080| 770,006
40 | 2/6 | #wB# | T XL ATR (53,500 X 50%) 26,750 743,256
41| 2/8 |mewn|pIONT AT o T L SRS 6,600 736,656
42 | 2/9 | = 2105’,:55‘6&525’05/?@’”%“% 9,625 727,031
43 | 2/12 | #=m# | HBANLL 971| 726,060
a4 | 2/17 |mssmse @%E'Z;E?E%Tif%gﬁigw_ﬁﬁég 3,000 723,060
45 | 2/17 || I SOBIIMEER 7,000 716,060
46 | 2/18 [rmmmesr | IR AN — R BRI A EH) 1,320 714,740
47 | 2/19 |weemms aze | EEEL 2,985| 711,755
48 | 2/19 | mrumnes | BIFNE R EHEEREZNIT N E I EH) 54,306 657,449
49 | 2/19 | ####%  [microSDA—R1(2,699F X 50%) 1,349 656,100
50 | 2/19 | #mr [HAT—AR(3,299 1 X 50%) 1,649| 654,451
51 [ 2/19 | e g;z;g;@;uw%ﬁﬁ%%&ﬁ 1,349| 653,102
52 | 2/19 | ### |EHLT X7 H—(2,000 X 50%) 1,000 652,102
53 | 2/27 | mmmmas | EHE 1% 18,700 633,402
54 | 3/10 | e | SEPTRABIIR 7,784| 625,618
55 | 3/16 | wmw f%é%ﬁgl?ﬁi%%uz%ﬂ /8 38,232| 587,386
56 | 3/16 | wesu Z’%ﬁ;%ﬁ?q‘fg;/:;m% SRS 16,008| 571,378
FHIE LB S — 2 OF v LR
57 | 3/16 |msorset |l A /L RRYAE R 1EDT=b D A A 9,400 561,978

Rk T BE A R C & D)
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£ g | mp % o® AR | S | 251
58 | 3/19 [masme o5 IR 5,190| 556,788
59 | 3/19 | wamrn | BRI LTH 125,700 431,088
60 | 3/19 | wssmis iﬂv’fﬁgfﬁfﬁgﬁﬁ) 1,844] 429,244
61 | 3/25 | s | (/=8 o777 AT 98,765\ 400,479
62 | 3/25 |wnmase | EEE 2,097 398,382
63 | 3/30 | s |E=r—F—2f%(14,575M X 50%) 7,287 391,095
61 | 3/31 | [ R (12,9841 x 508 6,492] 384,603
65 | 3/31 | wasw |o o D7D IS 92,808| 361,795
66 | 3/31 |manrses | fic e (1/24) @ k0 JL H 1,519 360,276

& E# 1,540,000| 1,179,724| 360,276
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